& 19l DE //

BC

Ao, x 9




ok 2314 BC//DE 7t HI=% sheld AC 9 Folt: dntz 3
sfofof sH=12




3. o& IdlA AD = ¢A 9 o] 24delth AABD 9 Hol= 12cm?
olt}. AABC 9] Hol=?

@ 25cm? @ 30cm? ® 40cm?

@ 45cm? ® —cm



4., o2 oA AB//CD ©]tt. AC =18, BE = 5, DE = 4 ¥ o,
CE 9] 4o]&=?

@ 2 @ 4 ® 6 @ 8 ® 10



5. o2 183 &2 /ABC oA LA 9] o] 5EA 0] BC & white= S
D2 o, AB = 4cm , BC = 5¢cm , CA = 6cm 2 2tk o] o, «
o] do]=?
@ 1.5cm @ 2cm @ 2.5cm

@ 3cm ® 3.5cm



AB//DE o]t} AB = 9,
DE | Zo|g Fatolel.




7. oS 2FHo|A AD 7} A 9] o]5H Ao
AD//EC € W, ot & &4 &2 A1

=

mO

@® /BAD = /AEC
@ (CAD = /AEC
® AB:AC=BD:DC
@ AB:AE=BD:DC

® AACE &= A4z ol



8. ©& 139 AABC 9|4 /DAB = /ACB, /DAE = /CAE ¥ o, x
o] Zt& otoet




9. oS I8} 22 AABC oA /BAD = /CAD, /CAE = /FAE o] 1,
AB = 9cm, BC = 8cm, AC = 3cm € 1], DE o] Zo]& 1dloizt},

a = cm



10. ©H AtthElE ABCD 9|4 AD =
4cm, BC =8cm ©|t}. AD ©] 974 919
A E o] tiste] BE7} DABCD 9] Hol&
o= ul, DE 9] Zol& FshH?




